Math 80 Test 4 Practice test”)_ Fall 2015

Fill in the blanks using the words term, factor, sum, product, difference, quotient, base, exponent,
power, index, radicand or root.

1) Solve —2|2t|+11>7 Expression your answer as a graph.
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3) Factor 8a? +37ab—15b2 completely.
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4) Given this is the graph of function g(t).
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e) What's the domain of g(t) ?
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f) What's the range of g(t)?
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g) Complete the description of g(t)
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For the following questions circle or supply the correct answer(s).

a. You have a(n)? Equation
b. Whats the LCD? ( La -3)( ? -({-)

c. How will you use the LCD? Distribute and reduce Build equivalent fractions

d. Do you expect to have an LCD when you've finished? No

e. If you have an equation, what values are excluded from the solution set?

Simplify or solve the original problem. If you solve, check your solution(s).
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7) Given

For the following questions circle or supply the correct answer(s).

a. You have a(n)? Expression

b. What's the LCD? Xt 4 )( X—Z)

c. How will you use the LCD? Distribute and reduce Build equivalent fractions

" d. Do you expect to have an LCD when you've finished? Yes

e. If you have an equation, what values are excluded from the solution set? — LN\ a) Z

Simplify or solve the original problem. If you solve, check ﬁour solution(s).
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For the following questions circle or supply the correct answer(s).

a. You have a(n)? Equation

b. What's the LCD? < X ’3)( >(‘(/ 5)
c. How will you use the LCD? Distribute and reduce Build equivalent fractions
d. Do you expect to have an LCD when you've finished? Yes

e. Ifyou have an equation, what values are excluded from the solution set?
Simplify or solve the original problem. [f you solve, check your solution(s).

2 sy N\ (R03)

s eed) ) L —
Q(*%)O‘"B

- b
) ‘ 2¥cevSE s T
LOCATOR = 2T one oKk

DS
(=)



4 2x-1__ 2x%+25
Xx=9 x-3 x2_42x+27

If you're going to solve,

9) Simplify or solve

a) List any excluded values.
b) It's not necessary to check your solution.
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10) Divide (x3 +2x% —2x - 88)+(x —4). Also check your work using multiplication.
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11) A grocer needs to mix m&m’s which cost $2 per pound with peanuts, which cost $0.50 per
pound, to make 100 pounds of a “Trail Mix” which costs $0.95 per pound. How many pounds
of m&m’s and how many pounds of peanuts should be used? You must use a system of

equations to answer the question.
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